20019FEF F2UREWREZ7IJILIJ7EFIERS

2019 &£ 6 A 27 H (K)

EEREEMRR IV JEREE

H5%3—X 6,604Yards Par72

[[=Riva B EA i@ outT IN TOTAL [[=giva B EA i@ ouT IN TOTAL
B R == NIl 36 39 75 bifl =% £k FE 41 47 88
EEM IH BIL gy—z 37 39 76 2 HARFH = 7= 40 48 88
Mz ZH IE= JEERE 39 38 77 53 PR mE— R 45 44 89
A hO IEA| B EI R 39 39 78 461 | KH sEiE =0 45 44 89
i H 2 7—4 39 40 79 55(i JEH FIX = 43 46 89
66 AR (= B EI R 40 40 80 560 =iE HiE B 42 47 89
L | KT &7 pERES]S 39 41 80 16 &0 & pILERES ]S 41 48 89
84 WMl RS JE EIFR 39 41 80 S8fI |HIF X 77— 40 49 89
I KX E— pERES]S 39 41 80 5941 [EH HBE pNIl| 46 44 90
106 B B— JE E R 38 42 80 604z Bl EH— g)—> 46 45 91
11462 Bk EEpE gi)—= 42 39 81 61461 R A E 47 45 92
1260 Hp B P 39 42 81 6241 BRIR  FIX = 46 46 92
136 AE BFE B 39 42 81 631 HF E— =G 46 46 92
146 HFig 8 pNIl 39 42 81 6441 A EE# B 42 50 92
156 Hef EZ =0 44 38 82 654 K =8I PIERES S 51 43 94
1662 IUIR =i pNIl| 42 40 82 664 KH RE 77— 46 48 94
1740 | Bl 87 pNI| 41 41 82 6761 | =& pNI| 45 49 94
1861 A sh2Z B 40 42 82 684 EBH {-FE g)—> 43 51 94
1961 fEE BBX gy—=y 40 42 82 69 EA R R 47 48 95
206 EE A JE EIFE 43 40 83 106 3RA  EF— JEE 46 49 95
21461 B # gy—=y 43 40 83 N (KT &KE NEER 51 45 96
22451 FEM RE 7= 42 41 83 1240 B3 F pNI| 50 46 96
231 [ERt Z 77— 43 41 84 13 HE BCE g)—=y 44 52 96
2441 EH —F =i 43 41 84 JAG HeE EX D 48 49 97
254 ey E A 42 42 84 156 AHE {CH SE= 48 49 97
264 ATy R | 41 43 84 1661 | T &R = 51 47 98
2161 FAR  Eidh =5 40 44 84 760 | fRAR  FiE JE E & 49 50 99
2861 |FEH AE A 40 44 84 186 | F{E Eth B =R 49 52 101
2945 AR RIE 7= 45 40 85 196 | X8 EF gy—=y 50 52 102
0L K% B R 45 40 85 804 FEN #H=E B =R 48 55 103
3L | FEAT E =5 44 41 85 816t % B pNIl 57 49 106
32 A FiE g)—y 40 45 85 8241 |FH EHiE = 50 56 106
3361 jEO IFEE )=z 47 39 86 83 R H— = 60 53 113
M | BEH Xk g)—y 43 43 86 N RAE & =

5L BEi EA = 43 43 86 N R|FEER KL )=y

6L FAX H 77— 42 44 86 Ri5 |EHH IEH =

3L MR RE JEYES] S 42 44 86 Rz |ER S TR

38 Ak EX R 4 45 86 Ri5 | EK EBRE B

9 EER X FE 44 43 87 X5 |FH E— JB E

046 BEX &R E 44 43 87 Rim |BER XX TR

My Bl FE JE EIFR 42 45 87 Rig HH HH NIl

4241 |RIE  58H 77 42 45 87 Rim =k XEC 5 ]

4361 (IR BEA NIl 41 46 87 Riz EED BT NIl

M MNEOIESE R 4 46 87 Rz R ABX gy—y

4561 /by = JE EIFR 41 46 87 Rig WK JF =0

4661 | FAR E= JB [(E 5 40 47 87

461 REXEX # =) 40 47 87

484 |fAE  EEn gy—=y 45 43 88

4961 BEA B =) 44 44 88

5062 | Fl & pNil| 43 45 88

P-1 TEERREATNRR TIL B EE



